Factorisation

LI X4+4x2-20=

2. 18+6x6+4x6-=

:9x8-18+3 x9=

4 Hxb+8xb-20-=

s 63-7xb-3x7=

6. 3x3+12-5x3=



Factorisation

1. 27+5x3-3x2=

2. 9x9-4x9+18-=

(98]

AN

N

[*)

6x4+4x4-36¢=

- 8x7-40+2x 8=

- 3xb+3x3-21-=

18+6 xb-4x6-=



Factorisation

[a—

\S)

(98]

AN

N

[*)

2x2+8x2-12=

- 4x10-20+10x 8 =

5 x3+8x3-32-=

bxT7+48+2 x 6 =

- 9x5-5x4+10-=

8+bx2-2x3=



Factorisation

1. 35+5x9-bx2-=

2. 4x8+4x9-4-

I x3-24+2x3-=

(98]

 6x9+9x4-27-=

AN

28+8x7-2x7-=

N

6x6-4x6-6-=

[*)



Factorisation

14+8x7+7xbH-=

[a—

- 4x10-4x8 +36=

\S)

- 3x4-9+8x3=

(98]

bx2+2x4-20-=

AN

D, 94+ 2x6-7x6=

s 10x9+18+7x9 =



Factorisation

. 9 x3+3x2 -3=

.45 - 4x5-8xD =

9 x8+24-8x7 =

4, 2X5-2X4+16=

s 63- 7x2+8x7-=

s 3X3-bx3+24-=



Factorisation

[S—

\S)

(98]

AN

N

[*)

T2+8x4+7x8 =

4 x3+8x3-9-=

" bhbx10-10x2 +80-=

b+2x6+7x6 =

- 6x9-9x3-36=

9xb5-b0+7xb-=



Factorisation

- 8x6+8x4 -16=

[a—

Ix2-49+ 3x7-=

\S)

18+ 3x7-3x2 =

(98]

bx7+bx7 +7=

AN

s /2- 5x8+8x4-=

s 10 x4-3x10 -10=



Factorisation

10 x7+4x7 +14 =

.45 - 7xH5-H5x3=

s Ox8+72+ 4x8 =

T+ 8X9+9x7 =

s 9x3-2x3+6=

2 X9-9x10 +63+=



Factorisation

. 81+2x9-Hx9

, 6 xXx10+4x6+H4-=

.48 +3 x8-8x7 =

. I X4-40+6 x4 =

100+4x10+10x 8 =

« 10x6+D5x6+12-=



Factorisation

.80+ 8x4+4x2-=

, I X6+30-8x6-=

. 2H+ bx2+bx7-=

. 4x7-7x3+70=

3 x2-30+ 9x3=

s 80+9x10-7x10=



Factorisation

[a—

\S)

(98]

AN

N

6 x3+72+3x8¢=

18+2xb-7x2-=

70+10x4-8x10-=

bhx2+18+3 x2-=

9x8-7x8+40-=

24+ 7x3+3x9=



